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18E ACOU
2018
ACCOUNTANCY
Full Marks : 100
Time : Three hours
The figures in the margin indicate full marks
for the questions.
(@ Fill in the blanks : 1 x4=4
AET 3% s7e 741 8
() Accounting records only the transactions of nature.
fevtemel @ O TR BT |
(i)  Assets = Liabilities +
e =l R S A
(i) Excess of capital over : capital represents loss.
[ETHR TS ST 20 (IO B |
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(b) State whether the following statements are true or false :

oo Al RIo@R wa @ siem ol ¢

(’i) Closing Stock is usually not shown in the Trial Balance.

ARRI TG A< AN TgE€ B Aqe (@l T2 |

|
1xd=4_) |

(ii) A Bank Reconciliation Statement is prepared by customer of a bank.

R i Ryfe @3 AT 2o FE|
(iii) The full form of CPU is Current Processing Unit.
CPU F o1~ I B @ltvR M5 | |
(iv) SQL is used to access data in a database.

Database © w2 Qb2 F{9Ace1 SQL TR 91 2 |

Write the meaning of Accounting.

oI oid B |

What do you mean by Accounting Standard ?

o S e & gen 2

What is a Trial Balance ?

Tge e sg 52

Write any two distinctions between Provision and Reserves.

SRR S S Mors 27w R 767 A B

‘Write any two features of incomplete records.

o)l ferfoiesae R 751 (e @R

Explain briefly about three users of accounting information.

Zptorae o @f wies) G5« [a o iRl 0
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10.

11.

Or / G<1

Mention three qualitative characteristics of accounting information.

T2pioRe O o5 e @ S 41|

Explain the going concern concept.
BoT® AT LIREIIC] <=0t <51 |

| Or / 5231
Explain the money measurement concept.

U AA© 2RFHT QIFENCE] Tl S |

Mention three distinctions between Journal and Ledger.

S S AfSA oo 26 fomo! AL e 1 |
Or / 921

Mention three types of transactions recorded in Journal Proper.

AT GRS SEEE 5l [of 4997 T Srerd 9 |

Explain briefly three advéntages of Database Management System.

Database Management #&o9 S5/ Rl GACF RO 51 |

Or / 923

Write short notes on Structured Query Language (SQL).
Structured Query Language (SQL)J €517 53 (Biel feisii |

Mention three distinctions between Statement of Affairs and Balance Sheet.

Wwﬁgﬁm@gﬁmﬂmwwoﬁ@@@ﬂﬁ”%

Or / G0

(O%]

(O8]

(%)

Gl

How Profit or [,0ss is ascertained by Statement of A ffairs method in case of incomplete

records ?

3

STl PR e wif SRER R AweT Nl wie (b @ W 39

Y ?

18E ACOU [3]
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14.

What is a Bill of Exchange ? Explain the terms ‘Drawer’, ‘Drawee’ and ‘Payee’ in
connection with Bill of Exchange. 2+3=5

[ «iq 2 ﬁﬁmﬂﬂﬁ—WW RoelRe, ‘Reager o ‘divke’ RaaEa o
=4 |

Or / 921}

Wirite five distinctions between Bills of Exchange and Promissory Note. 5

RER @ i< efoxse a9 sers A1 2507 iy 7|

Mention five uses of computers in Accounting. 5
f2plel =14® S>1CoRT 750 IR TRl T |

Or / g2
Define Computer. Mention three features of Computer. 2+3=5

SISO & 73 | =180 oMb [AR% Srael 1 |

On 15 January, 2014, a bill of ¥ 15000 due after three months has been drawn by
Madhur on Suresh. Suresh accepted the bill and returned the same to Madhur. On the
due date, Suresh dishonoured the bill and noting charge payable was 3 200.

Pass Journal entries in the books of Madhur in each of the following circumstances —
(i) Madhur endorsed the bill in favour of Nayan immediately.

(ii) The bill is discounted at 12 p.c. per annum immediately. 5

st SIS, 2014 B Ot Y@ AR oINS fof W21 BP=e @i 15000 S @2 B
S SR O A OIS Rgfs amia TR0 | o e Kot & et =0T |
fAReralal (o1l @O STpet 200 5=l |

iy SraiRe wREe Wy 32 i Al fm —
(i) TYE T [T Ol aBIGI A |
(i) FeE [ 12% 2 wewdle el 24 |

Or / 92

What is Accomodation Bill ? Mention three purposes of drawing an Accomodation
Bill. 2+3=5
Toiraas 1 (62 Seiaiers [ eigs 99 o5 Sy Sed 54 |

18E ACOU [4]




15. Write five distinctions between Capital Expenditure and Revenue Expenditure. 5
eI T O IS IS 2507 AL R |
‘ Or / &4l

What is Trading Account ? Write fhree objectives of preparing Trading Account.
: i

1 Ry oo [0 v Rea Roiol @we 119 ﬁﬁﬁr@m%ml

16. From the following incomplete records of Mr. Bhuban, a trader, ascertain the profit or
loss of his business for the year ended on 31.3.14.

M. Bhuban, G& TR, MEERS e FEkes == 31.3.14 oo w@ 2wl
T2 NSRBI Bferedl |

On 31st Mafch, 2014, his position was as follows —
31 315, 2014 T ©iR® (ore B wero fa e —

T 5l
Plant & Machinery 50,000
TP I IS
Furniture & Fixtures 22,000
Bills Receivable 7,900
A=l &
Sundry Debtors 27,500
ey o
Sundry Creditors 14,700

‘ ey siieTma

Closing Stock 32,000
ANl STgre el
Cash in hand 1,200
QTS S| 9w Gl
Cash at Bank 6,700

(R q9iv &=

18E ACOU | [5] Contd.




During the year, Mr. Bhuban introduced 2 12,000 as additional capital and withdrew

E3 9,700 for personal use. His capital as on Ist April, 2013 was 2 99.750. 5

IO 9999 Mr: Bhuban (3 12,000 5I< iR a1 L0101 91 W&91S I9121<1 i
9,700 55l SZS FieeT | 1 @fel, 2013 B ©iffee (9€3 e Wi 99.750 G |

Or / 991

‘Write five limitations of incomplete records. 3 5

sl EfeRmmRes 250 SRSl o1 |

17. Pass necessary Journal entries to rectify the following errors : ’ 5

(i) 2 850 received from Saurav was debited to Gaurav Account.

GTRSA *[1 o1 850 Tl (STI<== ® (OfRG 1 24 | | ;

(i) Goods of X 750 withdrawn for personal use was not recorded in the books.

750 51 IS Szl <4l AT Boles Fifeg 1 72

l
|
l
i
(iii) X 380 being Purchase return was posted to the debit of Purchase Account. \

380 TN @1 e, @ fapiere (ot S92 |
Or / 4.

Write three advantages and two limitations of Trial Balance. D=y

Ty fae sl@ l%ﬁﬁ*/fjﬁmw 76! ABIES! 72 |
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18. From the following information of Mr. Das, prepare a Trading Account for the year
ended on 31st March, 2014 :

welo WA w2 #[1 BiSE v 2014 591 31 6© S@ei T2 @ 939 9 Jaeg 2oigl
odwe 4l S '

Z Ol
Stock (As on 1st April, 2013) : 18.000
TGS #Aef (1st afeiet, 2013 SRR
Purchases 60,460
Gy
Purchase Return 460
RN
Sales - 1,20,800
i%@ﬂ
Sales Return 160
e e
Wages | 8,000
Bl
Carriage Inward 500
FRGe e
Carriage Outward 6,000
Rorsfe +fRae
Salary v i 10,550
SR

~ Additional Information :
[P 02y ¢

()  Stock on 31st March, 2014 ¥ 20,530
31 3B, 2014 SifFc SGgS 2[4

(ii) Wages outstanding 2 250

SEME TGS

18E ACOU - [7] Contd.
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Or / g2

Explain with examples the following terms : 26+2145=5
(i) Current Assets (i) Current Liabilities.

WWWWWQRWWWW
(i) Bfete Fife (i) bleTe (vl |

19. Prepare a Bank Reconciliation Statement as on 31.3.14 from the following
Particulars — 3

weTe Wl ©27 RS “| 31.3.14 Siffs @i @5 Mfeesd kYo 2ves 37 —

(1)

(i)

(iii)

(v)

)

(vi)

18E ACOU

Bank Balance (Dr.) as on 31.3.2014 was ¥ 90,000 as per Cash Book.
9 T2 Tew 31.3.2014 ©ifI® @S T wifes 90,000 G|

Cheques of 2 16,000 deposited into bank on 28.3.2014 but not collected by bank
before 31.3.2014.

([F® 28.3.2014 SifRcd 16,000 55 CWWW@@T@ (RCF 31.3.2014 ﬂﬁafta
Te (55 ey I I |

Out of Z 30,000 paid to creditors by cheques, cheque amounting to % 14,000 were
encashed by him after 31.3.14. :

AT 30,000 55 G =l 21, O 14,000 TF19 BF 31.3.14 wifss fige
OLEIRl 26 | ;

Bank charges of ¥ 1,000 and interest on deposits T 2,000 were recorded in Pass
Book only.

([ o1l FiRm 10003@@1@@3@@%‘&“%2000%@ Wvﬁzﬁﬁrm
e |

Dividend collected and credited by the bank but not recorded in the cash book
= SO0 M

T 1,500 TR i T TR ARTFS (Fob FF 8 79 720 2= ol ey
2|

A cheque of T 850 deposited and credited by the bank was recorded in the cash
book = 580.

850 TFIF (FF(O6 T4l Q2 GF 9% I51© 580 e TifPRE T 2 |

[8]




Or / G241

What is Bank Reconciliation Statement ? Discuss five causes of disagreement between
the balances as per Pass Book and Cash Book. B0

@3 iR Ryfe 52 (e AT SIS PIrRRN $ged e 29 A SIfFET A5 FE

20.

RUGIPRINSEIN

A Company purchased 2 machines on 01.01.2012 at a total cost of  4,00,000. On
01.07.2014, it-sold one of the machines originally costing 2 2,00,000 for 2 1,80,000.

Prepare Machinery Account and Depreciation Account for three years assuming that
the company provides depreciation @ 10% p.a. on the original cost. The accounting
year ends on 31st March each year. 4+4=8

51 IR T3 4,00,000 T 01.01.2012 SIS w51 Gifoe @ S| 01.07.2014
IR S @Gl e T4 AT P60 SRS 2,00,000 T, AR 1,80,000 5 R
SR | ‘
EINIGE (e B erRe 2R 10% FEe @b SR am il g 4
FIGR o q2e Tgeiife oI Seey 251+ 2w 5 | afs = 31 Wib© fopiead a2
o[@ A | '

Or / 924

What do you mean by depreciation ? Discuss six causes of providing depreciation.
2+6=8

SR e 5 qel ¢ SR QI I RE) e S 4

21. Prepare a Triple Column Cash Book from the following information : 8
mﬁ%@@wm%ﬁ@mﬂwaW@MWS
2014 Z 59l
October 1 Cash in hand 6,000
TS Tl q9M OB
Cash at bank 38,000
RT© G| 5 Gl
October 4  Cash Sales 25,000

T Ry

18E ACOU [9] Contd.



2014
October 7

October 9

October 10

October.18

October 23

October 25

October 30

Deposited into Bank
(RS Tl 9 R

Received cheque from Mr. Baruah which is
deposited into bank on the same day

Mr. Baruah 9 (21 (62 GCHMAIR (@559
CRIRERIG

Rent Paid by cheque

(OGP ©fel fazl 2

Paid by cheque to Mr. Kishore ¥ 6,700 in
full settlement of his debt of 2 7,000

6,700 5 (5 [ Mr. Kishore I 7,000
beiF f2pisE e 1 2

Withdraw from bank for office use

([F] #IF SRFbY IRRT @ AZFe T 2

Withdraw from bank for personal use

@ 79 TEoT© IR A W2 F 2

Salaries Paid

e o 2
Or / 923

Explain the following terms : (4dny JSour)
FIsferRis e = <=1 ¢ (Fez o)

()  Contra Entry
Rt afF®

(i1)  Petty Cash Book
ERINEIE IS

(iii) Trade discount
R FG!

(iv) Cash discount
9% G

I8E Acoy

[10]

% o
15,000

8,000

3,000

7,000 .

3,000
2,000

6,000

P—

2x4=8




(v) Imprest system

o i i el i)
(vi) Double column.Cash Book
fawsye om I3
22. The following is the Trial Balance of Mr. Rajnish as on 31st March, 2014.
31 Wb, 2014 7 SIiNE FRBF AT Tge [{em g ©ere Wz 45619
Trial Balance
Ty fEm og

Debit (S5 T 55l Credit (s g 5
Machinery 23,000 Capital 28,000
Cash at Bank 9,700 Bank loan 22,000
@FE Sl 49 Bl (@ A
Cash in hand 3,000 Creditors 9,000
ZIed Sl 97 5l NI
Debtors 15,200 Interest Received 600
IS To 2ife
Bills Receivable 11,800 Provision for doubtful debt 400
oisfy & LI AR SR 1
Goodwill 12,000 Trading A/c 35,000
A (Gross Profit)
Rent 4,500 = e ot
d (Jo FS)
Salaries 2,800
IBEEY
Closing Stock 13,000
AR TGS el

95.000 95,000

18E ACOU [11] Contd.




Additional Informat_ion 0

wfoRe © 3

(i) Maintain Provision for doubtful debt at 5% on debtors.
(IR 87O 5% HeYS 49N oy I-E 741 |

(i) Depreciate Machinery @ 10% p.a.
TFANOT €50 TR 10% SR 4=

(iii) Outstanding Salary Rs. 1,200.
T2ne w2l 1,200 5 |

Prepare Profit & Loss Account of Mr. Rajnish for the year ended on 31.3.14 and a

Balance Sheet as on that date. 8
2014 59 31 W 7] TREHE AE FEF IS FASEREH BoA Wi o1z ©IReS
3fooia eme w1

18E ACOU [12] 27

e



